g .0 n
m .
) Bp
2 10 (33
1 - - 60. £ 2
: 3 . 5 | - —
iy 5 T k200 T : 70
61.0 >t 50.99 ' NowomiejskO a e :
| ’- '1;-'--1 but ‘ -]|' —-q-l— —— — =
Sk 200 gt L 0.7 59,94 e : 1L
- . L | ,
3 | 109 51;0.3 —‘-—T—-’—__ 1o 581 ; 6
2L ;;; 013 61.16 : ) ﬁg. X "
b1.24 ‘" _ "
% - o . radrR¥\ng o e
O | L - 9.64 ' £
- 45 i i
61,82/ 61, =
!'251 = - 'S 1 n1 G % l
m—
% ' 1 =61.9 ‘ 9
Q PPP
" ‘ 0.
1.2 O'ﬁf. e vy &
gLy 3 s :
4 2 Bﬁ 5 €0.9 . K 12
3 ch.o% ;
- y61.1 589,
— 60.2
= ' -
o . o 14 6L \ =62.5
-~ czujnik temp. zew pPpp
ol ° J P = o | 1 | AP
B | 59.. '
\ 6 60.7 app=62.31 B[ |
=P
i |
3y b " 0.6
| 0.9 - e
51’:5? _p'ol_vggl ciepl - 0 5 |
i 11 r
ah..b"t‘ " g1.0" YT 43"3:2'6/ 60.21 ’ -
1 : - " o 5k - chodnik 0.5 ko a9 01
1-3 i i I. ' 6’_ i 3 4
\ : ﬁ Y.
€ AN . PTG |4 e g
* L ﬁnl - __r_
I \ 0
N 61.1 L. e 9
47 o 2 x
o N 60.0
7= 7 'y 9 {552
s — {
y 0 = ~ I'.
!} = 6
2 |
\
0.38
6Q.4 _
O 5 ot
e * 58.6.
| 0.7 Q%) s
© © asf.
0. v}
- © . 59,
g 38 \' ~— 6 \ 8 -
6O\ 6 \59\46 a
~ \ 7 2
y , \ 5 L
8 O S \3
5 \ 0.6
| 0.7 0.6
\
6 ! " asf. |
6
i \
60.7 y
651.80 60.3
60.8
)
L6
.4 s I'. 0-4
67
) et.
L8
1.6
©
1. 1.6 n 5
4
0.59 ) 8 60. sm.
- 6
61.80 _ : J : i 1
/60 e 61 -
61.81 g , 54 53
58.8 Bi 60.
60.
60.5
B 0
= 2 W
0./
60.5 - : 5
60.
\
1 ; 3 50.99 60.
e 54 _
15 60.
9 W




